
α) Είναι: 

α3 = 8  α1 + (3 – 1)ω = 8  

 α1 + 2ω = 8  α1 = 8 – 2ω  (1) 

Επίσης ιστύει ότι: 

α8 = 23  α1 + (8 – 1)ω = 23  

 α1 + 7ω = 23 
   
⇔  

 8 – 2ω + 7ω = 23  

 5ω = 15  ω = 3 

Αντικαθιστούμε στη στέση (1) και βρίσκοσμε:  

α1 = 8 – 2 ∙ 3  α1 = 2 

β) Είναι: 

α31 = α1 + (31 – 1)ω =  

=2 + 30 ∙ 3 = 2 + 90 = 92 

γ) Έτοσμε: 

S = (α1 + 1) + (α2 + 2) + (α3 + 3) + ...+ (α31 + 31) = 

= (α1 + α2 + α3 + … + α31) + (1 + 2 + 3 + … + 31) = S1 + S2 

όποσ 

S1 = α1 + α2 + α3 + … + α31 = 
  

 
[2 ∙ 2 + (31 – 1) ∙ 3] = 

  

 
(4 + 30 ∙ 3) = 

  

 
 ∙ 94 = 1457 

S2 = 1 + 2 + 3 + … + 31 = 
  

 
(1 + 31) = 

  

 
 ∙ 32 = 496 

Τελικά: 

S = 1497 + 496 = 1953 


